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Combinatorial description via crystal base
introduced by Kashiwara around 1990's (Abal
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Tensor products
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Assign (14 . Successively match brackets
f : changes rightmost ibracheted 1 to 2

e : changes leftmost embracheted a to



Example
Decomposition of B(2)@B(3) :
B(5)
# - is ...tkl

B(3)
#NE

B(Y
⑫NDi

= B(2) B(3) = BIS) B(3) + B(I)

Definition
vowe B(a) B(b) is highest weight if
e(row) = 0 .

Highest weight elements in B(a) ① B(b)
are elements such that read right to left
there are weakly more is tha I's.
This implies that all Is are bracheted).



Decomposition of (11) * K :
Elements in (11)0 are words of lengthhe
in letters 1 and 2.

Highest weight elements are reverse lattice was
in 51, 23 (from right to left weakly more Is
than 2's)

.

Via Robinson- Scheusted - Knuth these are in

bijection with standard young tableaux of
two rowe shape :
#211212211 is h . W. Letter with 1 go

87654321 into bottom row

its 2421211 of tableau,
lette with In go

into

Decomposition : top Now .
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given by back length formula
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